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1/

find h (—2).

-24
-16
-12

2/

Which of the following is an even
function?

f(x) =x3

f(x) =x3—-2x

fX)=x*+2

f(x) =x°

3/

Which of the following statements
could be used to describe the end
behavior of f(x)7?

chix)=x% + 8x—4 sy
ch (=2) 24

Thaag) Al L Laa

Lgaladited) e AJIEN Shleal) (S
() ADal 3kl Al Ciagl

1]

¥
TA

Jm f(x) = —oo, m F(x) =

Jim f(x) = —co, lim f(x) = o
Jim f(x) = oo, llm f(x) = —<o

Hm f(x) = oo, Ilm f(x) = oo



4/

Identify the parent function f (x) of

h(x)

f(x) =

F(x)
f(x)
fx)

5/

Given

=[x] —5.

=x+ 5

f(x)=+Vx —1and g (x) = x% + 9,

find [f - g](x)-C?

2 fF(x) Aoy Abad sda
hix) = [x] — S

O oA
g (x) =x24+9 353 f(x)=Vx—1
LF e gl(x) 22

x — 8

x + 8

Vvxz + 8

x2 — 8

6/ Solve k@equaﬁon VZx — 10 = 4.

—13

13

O

7/ Find the inverse function of

) =§t.x = 0.

Nt o
4
—1 == o
1 S =
rr—(x) = = x = —4
x+ 47
o
4
1) = — x> %
i) = = x+ 4
=—

?

AVZx — 10 = 4 Qs Oa

qu-ﬂ‘.\;‘,‘
4 —x
x

x#F= 0 f(x) =




8/

Determine all the zeros of

the fu n
f(x) = g‘ — 4x3 — 32x2.

O O
x=—8x=—4,x=0
x=—8x=0,x=4

O
x=—4x=0,x=8

xXxX=0,x=4,x=8

9 / hich is a factor of
x® —x* +2x% —4x — 47

10/

11/

x—2
x—1

x+1

x+ 2

Write a polynomial function of least
degree, with real coefficients, and
that h.it\/ 5.V5, and { among its
=)
i —

Zzeros, standard form.

O
J(x) = x3 —tx2 — Sx — St
f(x) = x3 — Ix® — Sx + St
F(x) = x* —a4x2 4+ s T
f(x) = x% —ax®* — 5
Solve the inequality:
2x—3
x+4
O O
(—o0,-7) U (4,)
(—,—4) U (7,x)
O
(—,— 4] U [7,»)
(—,—4) U [7, )

S(x) =x*—a4x3 — 32x2

A3le U Laa s

x> —xt*4+2x2—-4x—4

SAdg A s S e agasad) BAS ANl Lax)
I sV5 s — VS M%ﬂ,&.;&-\.‘
.&,._WI M\f o‘.)u-.‘ Cr—

rAlod Ja
2x—-3

2
x+4



12 / Determine the vertical asymptote of

@yfunctiony= ln(x+§)—3-

O O
x=—3
_ 1
F
1 (@]
x=§
x=3

13/ Condense the expression

B3
log,;15 + 6 log,x — 3 log,x

f» x > 0.
O

14/
Solve the equation:
3x

%) -0

ANall ol A dad s3a
.y=ln(x+§)—3

e\ Jales
-1
log;15 + 6 log,x — 3 log,x

x> 0 S

rddalaad) Ja
-5 3x

G -G
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15/

up equipment to cross it.

ravine from the chosen crossing

Round to the nearest tenth.

A team of climbers must determine
the width of a ravine in order to set

If the climbers walk 25 m along the

Ppoint, and sight the crossing point

on the far side of the ravine to be at

a 35° angle, how wide is the ravine?

Vgaw‘ me (OuAloSall e (3a52 d3aa O s
<o pemt SN sV Sugasl

o sl B3l 25 m SsAlooadl e 13
Aldads ) 19 585 ¢« s semld Aaaiall Adads

Fsle salsll Samadl Agadl Sra sead)

TS Oms OsSe as2 357 laa

B i e I )

16/

identify the angle that is coterminal

th the angle -—-'55.
= O
n-l-nn’
5
“+2nn’
5
"+n1r T
5
n+2n1r
5

17/ Find the value of the expression:

e

&a elgiiV) als B AS Sl Al 2da
w oo
.—g _Jj}ll

2 eadl) dasd aa

tan (>
an4

X = 14.3 m ‘
X = 17.5m
X = 20.5 m
X = 35.7m



18/ State the phase shift of 2 ekl Aaly) a3a

X T X T
y=COS(§+E) .y=COS(§'+§)
L

2
T
6
2m
3
3
2
19/
Find the value of the expression: : eamSl) Aaa® aa gl

—1 V2

sin (Zcos . ?) sin (Zcos-‘ g)
—1
o
X
2
1
20/
Rewrite P T as an expression acas N uas B E ! s o
secx+tlanx P - = ape "-’a secx+tanx “ -
that does not involve a fraction. S

—secx — tanx

—secx + tanx

secx + tanx

secx — tanx



21/ Solve the tem of egquations. ST Slm Al aliSD | e

+ 3y =5 Z2x + 3y =S
x 4+ Dy — 1S 6x +9y — 1S
T O

—2.3)
1. 1

‘Jh 2 g =" ¢ (& ]
no solution

Jsiall e SlesV oo
infinite number of solutions

22/

| Which system of inequalities is Tl Shaall SUASAD LU L
2x+y=5 graphed?
3x+2y<9

2x+y<S5
3x+2y<9

2x+y>-5
3x-2y2>9

-2x+y>S5
3x-2y<9

23/

n
v
"

aezper Fingthe value of g and b if the Vmwamb,au“
a=tp=s | following bwo matrices are equal, il

" rH%HJa% rﬂqH;%?

£
N

a=5b=1




